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06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM
SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

April 2022

13 April 2022

BANK ONLINE LIVE CLASS
SSC ONLINE LIVE CLASS

11:30 AM 10 01:30 PM

BANK ONLINE LIVE CLASS
(English & Bangall)

BANK ONLINE LIVE CLASS
(English & Odin)

BILINGUAL

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengall)

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

W\ 7052477777/7052577777

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
SSC ONLINE LIVE CLASS

BILINGUAL
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@ SSC 2022+ CGL*CHSL*CPO / @M at 06:30 PM (¥}
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Two pipes Aand B can fill a tank in 8 hours and 12 hours respectively. the pipes are opened
S|multaneously and It is found that due to a leakage | |n the tank it took 72 minutes more to

Fmd the time | Ich the leakage ¢ e th || tank.
e e B e R
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(A) 18 (5)24 (C)16 (D)26
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

A train covers 400 km at a uniform speed. If the speed had been 10 km/h more, it Would

have_ taken 2 hours r the same journey. What IS the speed of the train (in km/h
%}W 40 ag[%tiﬁ ‘TIEI 10 fqRHIrger W
tnanﬁ 2 [deT H) 91 87

(A)25 (B)35  (C)30 (D40
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

Mohml and Rahul can do a piece of work in 8, and 12 days respectively, and they together

s 2500. Find the difference betvvee e sha oh|n| an argﬁ?
% % d TP 1Y 2500
g AR IEAP

(A)500  (B)800 (C)900  (D)400
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$SC 2022+CGL+CHSL+CPO / EEM at 06:30 PM

In AABC, Z~=BAC iIs 90°, ABis 16 cm and AC is 30
m. Find the length of the biggest chord of the
circumecircle.

(B)32cm (C)34cm (D)17cm
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

The value of cosec?260° + sec260° - cot260° +
tan230° will be

(A5 (B)51/2 (C)5 1/3 (D)6
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

If X2 -3x + 1 =0 then what is the value of x2 + x +
(1/x) + (1/x2) 2

(A)7 (B)3 (C)9 (D)10
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

Ravi wants to divide Rs. 17100 in his four sons A, B, C, D in the ratio 3: 1:4:1. How much

B) get than D?
Ore Y )ge alnc 0%17100%7111}@3141%?13{%0@
(A+B)

(A)5900  (B)5700 (C)5500 (D) 5000
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@ S$SC 2022°CGL*CHSL*CPO / BB at 06:30 PM ([}

ﬂv/\d&'
There Is a group of five members. A member is replaced by another person which is not a
member of the group. Now thelr average age Is the same as It was 3 years ago. Find the

difference [n the ages of ne replaced mem ers (In year )

(A)12 (5)15 (C)16 (D)18
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=N\  S5C 2022:CGL*CHSL*CPO / B at 06:30 PM (1)

A number, when divided by 11, leaves 6 as the remainder, what will be the remainder when
he square of that number is divided y 117?
19 U & TR 6 AT S, SH T F T B 11 F U A W
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(A5  (B)6 (C)3 (D)8
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@ SSC 2022+CGL+CHSL-CPO / B at 06:30 PM (1)

A man spends 40% of his monthly income on food and one-third of the remaining on
transport. If he saves Rs.4500 per month, which is half of the money left after spending on

food and transpart, his monthly salary IS
i & ot R TR G S
W | gfe a8 . 4500 LIECEE R &

20 S BT 3T ¢ a‘rw
(A)11250  (B) 22500 (C)25000 (D)45000
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Awater tank is in the shape of a cuboid. The edges of the tank are in the ratio 7:5:3. The

surface area of the tank i1s 142 m2, find how Iters of water the tank can hold?
g aiég %Yas%a AW &1 ¥

7:53
%,o

Wﬂﬁ'ﬁ'g‘MZ;?TﬁET% ch A

(A)105KL  (B)110KL  (C)102 KL (D)108 KL

.;0
5 b
-

<

i Yor
bdme Yai




%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

Ifa+b+c=6anda2+b2+c2=12, then the
ratioa:b:cis

(A)3:2:1 (B)1:1:1 (C)2:3:1 (D) 1:2:3
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

If a% + b4 = a2b?, then a® + b® is equivalent to ?

(A)O (B)1 (C)az+b? (D) a2b + ab?
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If a television set Is sold at Rs. X, a loss of 28% would be incurred. If itissold at Rs. y, a

profltof 200 Woul%z_ INC r .What is hle re;tlsg/of to ?F | .- & 3=
X (] 3'1“ SR Q;qa
y,12%$ram |v@rxma|3q1?razn

(A)41:9 (B)31:9 (C) 23:9 (D)14:9
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There is a circle of radius 3 cm with centre 'O'and a tangent of length 4 cm Is touches the

C|rcle at point P. O meets the tag nt Q out de the ciycle and OQ cutéhe CII’C| a R.. Es

&\ 55€ 2022-CGL-CHSL-CPO / B at 06:30 PM (1)

eratl between QR and P GRS
SR LR el
, QR WGFJTI'I?[W

(A)1:3 (B) 2:3 (C)1:1 (D)1:2
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%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

The In-radius and circumradius of a right-angled triangle is 3 cm and 12.5 cm, respectively.

Thearea .ft g&'%n%’?f%w 3R uRRfY paEr: 3 A 3R 12.5 9t 81 Arys &1

(A)84cm? (B)88cm? (C) 48cm? (D)64cm?
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